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Useful measurement:
· ty​​ = t cos a
………………….(1)
· tx = t sin a
………………….(2)
· ty∆ = ty + t∆’ cos (b-a)
………….(3)

· tx∆ = tx – t∆’ sin (b-a)
………….(4)
· sy∆ = ty∆ + s∆’ cos(c+a-b)  ………(5)
· sx∆ = tx∆ + s∆’ sin (c+a-b) ………(6)
· mL = 
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· ∆’ = 
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· α = 
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· ∆ = 
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Sequentially finding the values:

Values that must be known previously:


sx∆, sy∆, s∆’, t∆’, t, d, ty∆, 
Now, from eqn (5),

c-a+b = 
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………... (11)
Now, from eqn (6),

tx∆ = sx∆ - 
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Here, from the figure,


b = Л - ∆’
Again, from the figure,


a = α + ∆ ……………………………………………… (13)
Hence, from eqn (11) we have the value of angle ‘c’.
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